BID TABULATION

Bid opening date: 6/13/24

DISTRICT 1:			Garcia-Chicoine Enterprises, Inc.				NICS, Inc.		
	Estimated	Unit of	Bid Price Per Unit		d Price Per Unit		Bid Price Per Unit		
Description	Annual Qty.	Measure	of Me	of Measure Total		Total	of Measure		Total
On-Call Guardrail Repair/Replacement Service Hourly									
crew rate for providing services during normal daylight working hours	; 850	HR	\$	550.00	\$	467,500.00	\$ 875.00	\$	743,750.00
as specified in RFP R105-24.									
Mobilization Rate									
per mile for the distance traveled from the District's bid point location	4000	MI	\$	32.00	\$	128,000.00	\$ 100.00	\$	400,000.00
to the site location & as specified in RFP R105-24.									
Flashing Arrow Panels Hourly	320	HR	\$	525.00	\$	168,000.00	\$ 500.00	\$	160,000.00
rate should flashing arrow panels be required during services.									
	105				_	10 707 00		_	
Traffic Control Flagging Hourly	195	HR	\$	55.00	\$	10,725.00	\$ 75.00	\$	14,625.00
rate per flagmen in the event of lane closures on 2-lane highways.									
Total	:				\$	774,225.00		\$	1,318,375.00

DISTRICT 3:			Garcia-Chicoine	Enterprises, Inc.	NICS, Inc.		
	Estimated	Unit of	Bid Price Per Unit		Bid Price Per Unit		
Description	Annual Qty.	Measure	of Measure	Measure Total of Measure		Total	
On-Call Guardrail Repair/Replacement Service Hourly							
crew rate for providing services during normal daylight working hours	400	HR	\$ 650.00	\$ 260,000.00	\$ 875.00	\$ 350,000.00	
as specified in RFP R105-24.							
Mobilization Rate							
per mile for the distance traveled from the District's bid point location	1500	MI	\$ 100.00	\$ 150,000.00	\$ 100.00	\$ 150,000.00	
to the site location & as specified in RFP R105-24.							
Flashing Arrow Panels Hourly rate should flashing arrow panels be required during services.	100	HR	\$ 775.00	\$ 77,500.00	\$ 500.00	\$ 50,000.00	
rate should hashing arrow panels be required during services.							
Traffic Control Flagging Hourly	100	HR	\$ 55.00	\$ 5,500.00	\$ 75.00	\$ 7,500.00	
rate per flagmen in the event of lane closures on 2-lane highways.							
Total				\$ 493,000.00		\$ 557,500.00	

DISTRICT 5:	Garcia-Chicoine	Enterprises, Inc.	NICS, Inc.			
	Estimated	Unit of	Bid Price Per Unit		Bid Price Per Unit	
Description	Annual Qty.	Measure	of Measure	Total	of Measure	Total

NEBRASKA DEPARTMENT OF TRANSPORTATION

Bid opening date: 6/13/24

\$

\$

On-Call Guardrail Repair/Replacement Service crew rate for providing services during normal daylight	Hourly working hours;	20	HR	\$ 650.00	\$ 13,000.00	NO BID	
as specified in RFP R105-24.					2,222	_	
Mobilization	Rate						
per mile for the distance traveled from the District's bid	point location	20	MI	\$ 145.00	\$ 2,900.00	NO BID	
to the site location & as specified in RFP R105-24.							
Flashing Arrow Panels rate should flashing arrow panels be required during ser	Hourly vices.	0	HR	\$ 775.00	\$ -	NO BID	
Traffic Control Flagging rate per flagmen in the event of lane closures on 2-lane	Hourly highways.	0	HR	\$ 55.00	\$ -	NO BID	

Total:

Total:

\$

15,900.00

\$ 1,313,000.00

Garcia-Chicoine Enterprises, Inc. NICS, Inc. **DISTRICT 6: Estimated** Unit of **Bid Price Per Unit Bid Price Per Unit** Description Annual Qty. of Measure **Total** Total Measure of Measure On-Call Guardrail Repair/Replacement Service Hourly crew rate for providing services during normal daylight working hours; \$ \$ 480 HR 650.00 312,000.00 NO BID as specified in RFP R105-24. Mobilization Rate per mile for the distance traveled from the District's bid point location \$ 8000 85.00 680,000.00 NO BID MI to the site location & as specified in RFP R105-24. Flashing Arrow Panels Hourly \$ \$ 400 HR 775.00 310,000.00 NO BID rate should flashing arrow panels be required during services. Traffic Control Flagging Hourly 200 HR \$ 55.00 11,000.00 NO BID rate per flagmen in the event of lane closures on 2-lane highways.

DISTRICT 7:	Garcia-Chicoine	Enterprises, Inc.	NICS, Inc.			
	Estimated	Unit of	Bid Price Per Unit		Bid Price Per Unit	
Description	Annual Qty.	Measure	of Measure	Total	of Measure	Total
On-Call Guardrail Repair/Replacement Service Hourly						
crew rate for providing services during normal daylight working hours;	75	HR	\$ 650.00	\$ 48,750.00	NO BID	
as specified in RFP R105-24.						
Mobilization Rate						
per mile for the distance traveled from the District's bid point location	750	MI	\$ 100.00	\$ 75,000.00	NO BID	
to the site location & as specified in RFP R105-24.						

Bid opening date: 6/13/24

Flashing Arrow Panels Hourly rate should flashing arrow panels be required during services.	5	HR	\$ 775.00	\$ 3,875.00	NO BID	
Traffic Control Flagging Hourly rate per flagmen in the event of lane closures on 2-lane highways.	75	HR	\$ 55.00	\$ 4,125.00	NO BID	
Total:				\$ 131,750.00		\$ -

DISTRICT 8:			Garcia-Chicoine Enterprises, Inc.				NICS, Inc.			
	Estimated	Unit of	Bid Price I	Bid Price Per Unit		Price Per Unit			Bid Price Per Unit	
Description	Annual Qty.	Measure	of Measure		of Measure		Total		of Measure	Total
On-Call Guardrail Repair/Replacement Service Hourly										
crew rate for providing services during normal daylight working hours	; 75	HR	\$	650.00	\$	48,750.00	NO BID			
as specified in RFP R105-24.										
Mobilization Rate										
per mile for the distance traveled from the District's bid point location	700	MI	\$	115.00	\$	80,500.00	NO BID			
to the site location & as specified in RFP R105-24.										
Flashing Arrow Panels Hourly	5	HR	\$	775.00	\$	3,875.00	NO BID			
rate should flashing arrow panels be required during services.										
Traffic Control Flagging Hourly rate per flagmen in the event of lane closures on 2-lane highways.	75	HR	\$	55.00	\$	4,125.00	NO BID			
Tota	:				\$	137,250.00		\$ -		

Bid opening date: 6/13/24